Moto-All.ru

CITMCOK OETAJIEY [IJ1d "SUSPENSION TORSION BAR REAR - R12JT9EFX"

POLARIS R12JT9EFX RZR XP INTL

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

13
10 \
© 2010 Polaris Sales lnc.\ﬁ

oo



CITMCOK OETAJIEY [IJ1d "SUSPENSION TORSION BAR REAR - R12JT9EFX"

POLARIS R12JT9EFX RZR XP INTL

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 1017930 CpOK TIOCTaBKH OT 27 gHEU WELD-SWAY BAR 1
2 5632513 Cpok noctaBku oT 19 nHei EEL?}ZIIII)\IE‘I/{VAY BAR 2
3 5632514 Cpok noctaBku 0T 19 gHeint gEL?}ZII?\IE‘I/{VAY BAR 2
4 7518995 Cpok noctaBku 0T 19 gueint SCR-SOCHD 4
5 1542798 Cpok nocTaBku 0T 27 fgHel ASM-LINKAGE 2
6 5334945 CpOK IOCTaBKu 0T 27 JHEeU SPACER-.625X.407X.375 2
7 5438830 Cpok noctaBku 0T 19 gueit BUSHING-SWAY BAR 4
8 5632497 Cpok mocTaBku 0T 19 gHen BRKT-CAP 2
9 7080433 CpoK moCTaBKu 0T 27 mHel FITTING 2
10 7518920 CpoK 1ocTaBKu OT 27 fHEH’ fd%%({g?&BSZOD 4
11 7518559 Cpok nocTaBKu 0T 27 gHel BOLT-M10X1.25X50 2
12 7556153 Cpok nocTaBku 0T 27 fgHel WASHER 6
13 7547332 Cpok noctaBku 0T 19 gHen NUT-M8X1.25 4
14 7547333 CpoxK IoCTaBKu 0T 27 mHel NUT-M10X1.25 4
15 7518595 CpOK IIOCTaBKH OT 27 gHEN BOLT-M10X1.25X40 2




